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Double Tag

 signal side: 1= —» yu-

 tag side: 7+
.« etv,V;
. .U+V,u;/1
. THV,
. T["'T[O;/T
. T["'T[OT[O;/T
« total tag efficiency 80.78%



INnitial Event Selection

* Good charged tracks
* nGood = 2, nCharge =0

* Good photons
* nGamma >=1
* Reconstruct 10 (see next page)

* # of gamma left = 1 (signal
gamma)

* E_gamma,sig in [0.4, 1.6]GeV



Reconstruct 1t0

 determine mass window

* for every combination of 2 gammas from signal MC, sort
them according to the difference between its invariant

~8000 =TT T T T T T T

mass and pi0 mass Em ;if?”?ma
* select combinations according to number of pi0 from MC g%
ruth » :
* mass window: [0.12 GeV, 0.14 GeV] 53000 ]
* Reconstruct pi0 E

* for every combination of 2 gammas, sort them according PO D DL O OB B O 0 O
to the difference between its invariant mass and piO mass
e select all combinations within mass window

* signal gamma will be chosen from remaining gammas



BD T

* INnputs:
* p of tracks
* cosBO between signal and tag tracks
* p_miss, m_miss, m_signal



BDT inputs

(1/N) dN/0.0307

Input variable: p1_sig_total

Input variable: p1_tag_charged_particle
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Correla

Matrix (signal)

Linear correlation coefficients in %
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BDT Train

TMVA overtraining check for classifier: BDT2
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